@ SKEERDY CAT

CATALYTIC CONVERTER
ANTI-THEFT DEVICE &

SKID PLATE

(2022+ TUNDRA)

INSTALLATION INSTRUCTIONS

CONTENTS

1) Skid Plate
3) M10x1.50 x 40mm Security Torx Bolts
3) M10 Lock Washers
3) M10 Flat Washers
3) M10 Nut Plates
2) M8x1.25 x 45mm Security Torx Bolts
2) M8 Lock Washers
2) M8 Flat Washers
5) Spacers
1) T-45 Security Torx Bit
)

(
(
(
(
(
(
(
(
(
(1
(1) T-40 Security Torx Bit

TOOLS REQUIRED

T-40 & T45 Security Torx Bits
(Provided)

Bit Driver

Floor Jack

Jack Stands

SKU # TU22237
Edited: 05/29/24



@ SKEERDY CAT

STEP1

Safely lift and support the front of the vehicle.
Locate the (2) M8x1.25 threaded holes in the vehicle frame under the vehicle engine.

Note: It is recommended to run a thread tap through the bolt holes to ensure clean threads
before attempting to fit the skid plate.

STEP 2

Locate the vehicle crossmember under the transmission. Fit the included (3) M10 nut plates into the
crossmember.



@ SKEERDY CAT

STEP 3

With assistance, lift the skid plate to the vehicle. Secure the skid plate to the front of the vehicle
using (2) M8 x 45mm bolts, (2) M8 lock washers, and (2) M8 flat washers into the vehicle threaded
holes. Fit (2) spacers between the frame and the skid plate.

Secure the rear of the skid plate to the previously placed nut plates using (3) M10 x 40mm bolts,
(3) M10 lock washers, and (3) M10 flat washers. Fit (3) spacers between the crossmember and the
skid plate.

STEP 4

Adjust the skid plate as necessary for a symmetrical fit to the vehicle frame.
Secure the skid plate by tightening all hardware evenly until secure.

Installation is now complete.



	TU22237 - Skeerdy Cat - Catalytic Converter Skid Plate (22+ Tundra)-01
	TU22237 - Skeerdy Cat - Catalytic Converter Skid Plate (22+ Tundra)-02
	TU22237 - Skeerdy Cat - Catalytic Converter Skid Plate (22+ Tundra)-03

